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Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. Choose the
correct answer and darken the bubble corresponding to the question number using Blue or Black Ball Point
Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be deducted. No negative
mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and without handing over
his/her Answer Sheet to the Invigilator. Candidates should ensure that the Invigilator has verified all the entries
in the Register Number Coding Sheet and that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind of malpractice in
the Examination will result in the disqualification of the candidate.

www.talentkerala.com . 8590575713 (P.T.O0)



TAMES -2023

Which function key is used for opening help?
(a) F1 (b) F2 (c)F4 (d) F3

The device used to carry digital data on analog lines is called as
(a) Modem (b) Multiplexer (c) Modulator (d) Demodulator

Hacking means:

(a) Unauthorized attempts to bypass the security mechanisms of an information system or
network.

(b) Use of information and communication technologies to support deliberate, repeated
and hostile behavior

(¢) A form of fraud or cheating of another person’s identity.

(d) Without the permission of the owner to download computer data

Which input device moves in all directions, controls the movement of the cursor, and
continues moving in the previously pointing direction?
(a) Mouse (b) Trackball (c) Joystick  (d) Bothaand b

Choose the correct answer in reference to Recycle Bin?

1. It store the discarded item until the computer is shut down.

2. It is located on the desktop of the computer screen.

3. It stores the discarded item until the computer is emptied.

4. The deleted items can be store through recycle bin.

(A)1&2 (b)1&3 ©1,2&3 (d)2,3&4

With reference to Dhrupad, one of the major traditions of India that has been kept alive for
centuries, which of the following statements are correct?

1. Dhrupad originated and developed in the Rajput kingdoms during the Mughal period.
2. Dhrupad is primarily a devotional and spiritual music.

3. Dhrupad Alap uses Sanskrit syllables from Mantras.

Select the correct answer using the codes given below :

(a) 1 only (b) 2 only (c)land3  (d)2and3

“Electra Gold Cup” is associated with which sports?
(a) Polo (b) Table Tennis (c) Badminton (d) Football

Who scored the first hat-trick in FIFA World Cup 20227
(a) Lionel Messi (b) Cristiano Ronaldo (c) Neymar  (d) Goncalo Ramos

Which of the following statements given below is/are correct ?

1. Neeraj Chopra is the first Indian to win a gold medal in javelin throw at the Asian
Games.

2. Vinesh Phogat became the first Indian woman to win a gold medal in wrestling at the
Asian Games

3. M.D Valsamma is the first malayali woman to win a gold medal in Asian Games

(a) 1 only (b) 2 only (c) 1 & 3 only (d) All the above
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20030l B30q M 2IYOM aB® aNeBoHB &1 DalcWIUTlen)aM)?

(a) agad 1 (b) agad 2 (C) agyad 4 (d) agad 3
@RMNGRY HHEIMOE3I03 AEZRIT3 GO XB06NE)EA BT D IGROUILINIT Sa IETNEXTI QlBBOMNOY
(a) emoawo (b) 2udglaisavd (c) cmoa)6eIgd (d) awlemow)eeIQd

20088100 ERACNAOBN)MN O):

(a) 80y allae qoallwomEmemEwd HMFAUBSHINBEWO TVIOGHUO TVoANWIMEBOS ACIH:S
BHOMBS @RMUHY @ (V0M6BBUD.

(b) senoWandalne ERABCTILBI®0 VOGHEVAICAOVWEEOV HaldIRIQHOD aflamemaan)
mMmoIM allaleesB8)esW)o ERWVAIMIA® MOGH:GGAIB E:B)0SWI0 ValEWONo

(©) 26Q00) AUEGIWOS BafruFidlow aLRilenI 60) dlo.

(d) osovies @eMAGIVIEO® GMILSE GQO AWDEMERINUS &21gMGIa)

age dlusgleelsnio MlEB)aN, HFTVolOg aleiMo WG, MM GaldW1g 6210
Bluoileelss MIeo ®)SOIAN DMBal)§ Dald06mMo ?
(a) aoay (b)isoms @enioud (c) emolaigles (d) (a) @0 (b) 20

0leeavesiud ilanaow] MITWeqlS GV YOO TOCETINSIBH) >

1. #0015 oHSWDENS @RYSIANG AUOO GPRO) DCaldHlENNAIG aDWENH:UD TVoRGIBHIAN)
2. o) HMIRSE M 1NOg HAIVHES0qIed MLFIG 6a1QaN)

3. ®&MUNSA 10)MIROBHIAMOAUNO BRO) DGaldHla aDWENGUd TVoRAISH)IMN)

4. alelly 9210 an®endud 0loaaueslud milimlenes avyedlondo

()1 &2 (b) 1 &3 ) 1,2&3 (d)2,3 &4

M)QoeN=)H3001 MeINIBOMIGa 00N MAMIWOS (LD aldOMNUOIERSIHLIANIY (B} BlOMm

a10023uBla )rd06NE, T |0WAN (aIT@OAUMBGHSIG aB@6M) CoGI1?

. 3008 BOEM®E0LION 0Ral)(@ 00RLEBSICd MMM (B)ald OORAINGS)E:W)o Aile:avles)
&0 21T

2. (3ol (a0L02l200] BE®IW)o @RERIVANAW MW Im@Oa.

3. (8ol @RELIDAT MVoMUEG® AMMEBSIC3 MBS EREHOVEBUS DalGWOW]BH)IN).

2jA10S NOBBIVNB1ENIIM BHOWHUB DalEWOW]a] MDOIVWOV DT GOOETTIS)EN)E:

(a) 1 moo (b) 2 @00 (©)1 903 a0 (d) 2 203 o0
‘eI VIR da] aB® »0We: MMaRMOW] nITWealglClenan)?

(a) @al0Gm0 (b) esenilkd osanlay (c) enioasselladend (d) an)Seenioud
2022 adlan GeRG®a|lGd @BBY a00Sld: GMSIVG ?

(a) elwem@d oaqy (b) (B1N3QL06MO HOEMOUBEO

(c) emIad (d) ewosmdavoeeld oocaomy

@069 MAHIVIBIEMM (A IMIDOAUNGSITI VOIVWOIVA! T OEEIINSION) >

. agayad evdloavlad Roalelld G@oIed aquidsmo BMSIAN @REY AN GOOR6M
Mo Gald(al.

2. agay@ onlomilad w)mi®IWI@d quidemo BMS)AM @AY MAMIMW UM WO6M
ollemati Banows,.

3. aBoaiy@ ew@loavl@d quidemeawd emMs)am @ay 2elwos] amlo woem
afyo Wl aI@daven

(a) 1 moo (b) 2 oo (c) 1 & 3 mo(®o (d) agero voolwoeny
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Who wrote the novel 'Pluto! Priyappetta Pluto!" ?
(a) Subash Chandran (b) PK. Balakrishnan  (c) Rafeeq Ahmed  (d) O.V. Vijayan

‘allomMOeINO0)ald>006AM16MO

HVWHMNCRIFOM) VAL, B

@pmiRIamymel quiRlailoo

wmieose)aneel, allealsleud.’- these lines are from which work of Kumaranashan?

(a) Nalini (b) Leela (c) Karuna (d) Veenapoovu
Choose the correctly matched pairs related to Jnanapith award.

A. G Sankara Kurup 1.2007

B. Thakazhi Sivasankara Pilla 2.1995

C. M T Vasudevan Nair 3. 1965

D. ONV Kurup 4. 1984

E. Akkitham Achuthan Namboothiri 5. 2019

(a) A-4,B-3,C-1,D-2,E-5 (b) A-3,B-4,C-2,D-1,E-5

(c)A-3,B-4,C-1,D-2,E-5 (d)A-4,B-3,C-5,D-1,E-2

Who is the director of the film ‘Chidhambaram’ which won the National award for best
feature film in 19857
(a) G Aravindan (b) Shaji.N.Karun (c) Jayaraj (d) Salim Ahmed

Choose the false statement/statements about Yakshagana

(a) Also known as 'Bayalattam'

(b) The musical instruments like Chenda, Maddalam and Ilatalam are used.
(c)Represents based on Ramayana & Mahabharata

(d) Resembles to the costume, melam and song of Ottanthullal

‘Pattachitra’ is the traditional art form of which of the following state ?
(a) Himachal Pradesh (b) Maharastra (c) Odisha (d) None of these

With reference to the provisions contained in part IV of the constitution of India, which of
the following statements is/ are correct?

1. They shall be enforceable by courts

2. They shall not be enforceable by any court

3. The principles laid down in this part are to influence the making of laws by the state
Select the correct answer using the code given below

(a) 1 only (b) 2 only (c) 1 and 3 only (d) 2 and 3 only

The Prime Minister of India, at the time of his/her appointment:

(a) need not necessarily be a member of one of the Houses of the Parliament but must
become a member of one of the Houses within six months

(b) need not necessarily be a member of one of the Houses of the Parliament but must
become a member of the Lok Sabha within six months

(c) must be a member of one of the Houses of the Parliament

(d) must be a member of the Lok Sabha
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‘al)630! (all@ealg oliEF0! ag)aM GMOAIGE af)$)TINV®OOG?

(a) avyenIoati alBad (b) alo® enioeimyatienad
(¢) canlad @Raoe2d (d) & ail almowad

‘allomMOeINO0)ald>006AM16MO

HVWHMNCRIFOM) VAL, B

@pmiRIamymel quiRlailoo

WM 20eMEREE], AllGAIHIHU. D AGkHUE EEOMOWINTG aBO) by CIWIGRI®IM?
(a) mgiml (b) ene (c) ®»oyem (d) aemanai
260Mallo aljeMIGI00aNMOW] MITWealS WAlIWONS] Il 20l CIOMEIINS)He) .

A, ZH.0oo®:060)0)a] 1. 2007
B. @®¢l wlaiwsoa|lss 2. 1995
C.ago sl anaviesalad mowad 3. 1965
D.sagadall &)0)a] 4. 1984
E.enseslomo @ralyymadmmnyolol 5.2019
(a) A-4,B-3,C-1,D-2,E-5 (b) A-3,B-4,C-2,D-1,E-5
(c)A-3,B-4,C-1,D-2,E-5 (d) A-4,B-3,C-5,D-1,E-2

1985 @3 ala] alll@omlmss 63wl @rARAW EMSIV ’afldomioe’ ag)an alll@omleag
VoIl WOV BB @RI ?
(a) =.eroailm (b) amo=El.agB.0)ed () Bwooz  (d) aveilo GrRaoAS

QBAHUNIMHO TVoeNITWla] H@QPOW  (aITTGOAUM /(2 IT@OAUMBUE GIOOCTOINS)06) >
(a) eniwengo of)am @ROIWSA|SIAM).

(b) eatere, 2380, DEIOMOBo AT QADEBIAIGOEMEBUB  OalEWOWlEN)IM)

(C) ©020@6Mo, Ma00BIOMO af)IN] GITNHOS @RAILIENIAOSEH] ERAIMBlaflen)an).
(d)caianomleno cagomlenoe aloslenoe 805M8 ®83LNGMOS AVOBYULe AljLIBOMYAM).

a}@ TVoMVLNOMOIEAG alOMIEON® 21 ‘algaill®’ ?
(@) 20120213 (216300 (D) @000y (c) sl (d) pawwomyael

AN BOSMLISMHW)NS MOLI0 BONAMITE @RSEBIWIGlENMM QAULAUMIOGHES al00adudla]

M |0WIAN (A ITGIAUNHSIT B0/ aBODLION06M (00lWIW]SBHO)

l. 6050100 2)6aIm @Al MSqflenenond &¢lw)o

2. 6»0sOI®HU MmeaIm @pal MSaflenenom evloilel

3. D BIVWOM) 9N |S;OMIWIClEHM OOMIEBUE TVoTLNIMOWIHAF MATIIG2A6MEOID
o wlmlenyan)

2j010S NOIS]IVNIB1ENMM EHOW DalEWIUila] (VCIVWIW VOO GIOHETNS)BN) B>

(a) 1 moo (b) 2 @00  (¢) 1 90 3 90 @0 (d) 2 90 3 9o @00

MA@ (alWOMmAB)], @6 wloam TR O):

(@) a1dewandlond 680y MEWIGE @ROVAOGMEAIDIEL of)INIG3 RO AOMEHIMSSIGE TVE
&Slod 8aNIC3 BROWAIB6Mo.

(b) adewandlond 680) MERVIG @RoNAVIBISHIMHAIDILL af)aNOGE @Y BROMVOTHIMGE:0
GEIOBVBWIMG3 BROVAIB:6Mo.

(c) adewandlond 60} VI GRoVAOWIGlEHEMo

(d) eensewlod @rowaoclessmo
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In context with the Constituent Assembly, which among the following observations is / are

correct?

1. The members of Constituent Assembly were elected directly

2. The basis of seats allocation was population

3. Composition of the Constituent Assembly was roughly in line with the suggestions of the
Cabinet Mission plan

Select the correct option from the codes given below:

()1&2 (b)2&3 (c)1&3 (d) all of the above

Right to Privacy is protected as an intrinsic part of Right to Life and Personal Liberty.
Which of the following in the Constitution of India correctly and appropriately imply the
above statement?

(a) Article 14 and the provisions under the 42nd Amendment to the Constitution

(b) Article 17 and the Directive Principles of State Policy in Part IV

(c) Article 21 and the freedoms guaranteed in Part 111

(d) Article 24 and the provisions under the 44th Amendment to the Constitution

With reference to the Constitution of India, consider the following statements

1. No High Court shall have the jurisdiction to declare any central law to be constitutionally
invalid.

2. An amendment to the Constitution of India cannot be called into question by the Supreme
Court of India.

Which of the statements given above is/ are correct?

(a) 1 only (b) 2 only (c)Both 1 and 2 (d) Neither 1 nor 2

What will be the remainder when 19'* is divided by 20 ?
(a) 19 (b) 20 (©)3 (d)1

123, 277, 459, 669, 907, ?
(a) 1179 (b) 1173 (c) 1167 (d) 1169

The HCF and LCM of two numbers are 21 and 4641 respectively. If one of the numbers lies
between 200 and 300, then find the two numbers ?
(a) 273, 369 (b)273,359  (c)273, 361 (d) 273, 357

1 1
< part of a pencil is black and 5 part of the remaining is white. If the remaining part is blue

1
and length of this blue part is 35 cm, then find the length of the pencil ?
(a) 6 cm (b) 8 cm (¢c) 7 cm (d) 9 cm
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coeMALISMO MIWAMI@2A06M MVERWIOS alURIDOMLIOMIG3, MMlaj0Wan MIoldHemeEBslod
B0 /aBO®EIN06M  WGl?
1. BosmMeeIsMO MIWamldanoemaVEYINLl GRoMEEBOS GMAIS CIOeETINS)OI)
2. g allermomilaag GrSIaSInoMo RMaVoaILOVI0)aN)
3. oemeaIsmo MIamldaoemIvEWRs *aIsm &oenilng dlad alecb@IW)es MIdG3U6Es
WBHe ERMAVY®ROV]YAM).
210105 MO3S]IVNB1ENM GHOWGSIB3 MM WOIVWOW BOaTaHMB COOETINS)HN)B::

(a) 1 90 2 90 b)292 3 920 (¢)] 903 a0 (d) agye100 0ol

R10ilen0Mm)88  @RAIGHIWAN0 ARSI MVIDOMIAN0 GRAMNALITMROWIBIENN CLISE:ORAT
DIl TUIB00 OVBNBH GPAKKH0W0 TVoOdHIBHNA|SIClENIN). DAMIAT BoeMLISMOSG3
aB@06M GAGTY alOEOIBISNAN (AINTEOAUMOW TVOWYEG1HNAN D)

(a) epdgleslud 14, 42-00 BosMARISMO GO Ald)afla) &1¥lenss alyaInSinG.u3

(b) @dsiesisd 17 oo cowo IV er1 mIde30de: moiEBs)0

(c) @pdsleslud 21 9o @owo III-03 ©0af) M@IHYAM VDG YEBS)0.

(d) epAdsleslud 24, 44-00 RoEMARISMO GEEOMI Aldlafll) G:1F1enss alyaINSING03

EDADIM BOEMALISMHW al0IABUW 2 }OHI6NE, DT |0WIAN (A ITNSMIQAUMGHUB alBINETHe)d>

1. 80) 99a006890SONEN)0 aGOMO0) BB MIVWAQN0 BOEMALISMOAIOROW] GBRAVIW)AIOHEMAD)
(al6110ailoe0md «me«a;ooW%

2. goemeeismdleel GREOGIHUE  TV)allo EGMHISTIHe) GaldBlo §21QIM @GRWldmooalel

&SI DARBHIDGH9IAN (2 ITV@OUDHSIGE B0/ aBO®LI00  WBIWOET?

(a) 1 mo@o (b) 2 200 (¢) 1 22 90 wal  (d) 1 90 2 90 oog

19 om 20 60 2001203 Wlayo af)d) ?

(a) 19 (b) 20 (©)3 (d) 1

123, 277, 459, 669, 907, 2
(2) 1179 (b) 1173 (c) 1167 (d) 1169

©6MB) LORIYGB)HS ©.aVI.C81, ELAVI.M) o)Wl N (&ao 21 9o 4641 0o @mem.
moaly&»glad aeoeRo, 200 myo 300 Mo wsVIG @ROMBHIGE, 6B TVoalyHS)0
&6eNBYalSlen)d ?

(a) 273, 369 (b) 273, 359 (c) 273, 361 (d) 273, 357

1 1
830) ealadavleilead g@omo 0)aflo, GUatlenyM®lead Eeomo P88 mloanaosm.

1
Guoatlemam Bowo mMIlel Moo @rYsM. Mlel mlomss cOVWOMIOA3 MIzo 35 eorvadla’lgd

@RYEMHICE Halm@davlelloa @ed: MIgo aglo ?
(a) 6 cm (b) 8 cm (¢c) 7 cm (d) 9 cm
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Nine friends have a dinner in a hotel. Eight of them spent Rs. 120 each on their meals and
the ninth spent Rs. 160 more than the average expenditure of all the nine. Find out the total
money spent by them?

(a) 1120 (b) 1240 (c) 1260 (d) 1100

What should come in place of the question mark (?) , so that it satisfies, equality of the
given equation ?

32 % of 750 =?

(2) 23 % of 600 (b) 46 % 0of 207 (c) 98 % of 250  (d) 75 % of 320

Geeta borrowed some money at the rate of 6% per annum for the first 3 year, at the rate of
9% per annum for the next 5 year and at the rate of 13% per annum for the period beyond 8
year. She pays a total interest of Rs.8160 at the end of 11 year.

A. The interest for first 3 years is Rs. 1440

B. The interest for last 3 years is Rs. 3120

(a) Both A & B are true (b) Both A & B are false

(c) Only A is true (d) Only B is true

Ifa:b="b: cthenratio a*: b*is equal to

(a) ac : b? (b) a*: ¢? (c) ¢*:a? (d)b?: ac

Total wages for a work is Rs. 1280. Appu alone can do a piece of work in 8 days, while
Babu alone can do it in 12 days. If Appu and Babu work on alternate days, then find the
share of Appu ?

(2) Rs. 800 (b)Rs. 1000 (c) Rs. 1200 (d) Rs. 700

A train leaves Mumbai for Goa at 3.45 pm and goes at the rate of 50 km/h. Another train
leaves Goa for Mumbai at 2.35 pm and goes at the rate of 60 km/h. If the distance between
Mumbai and Goa is 510 km, at what distance from Mumbai will the two trains meet ?

(a) 200 km (b) 250 km (c) 245 km (d) 300 km

A watch which gains uniformly is 5 min slow at 7 o’clock in the morning on sunday and it
is 5 min 48 second fast at 7 pm on following sunday. Which day was it correct ?
(a) Friday (b) Saturday (c) Tuesday (d) Wednesday

On what dates of March, 2005 did saturday fall ?
(2)4,5,9,12 (6)3,10,17,25  (c)5,12, 19,26 (d) 4, 11, 18, 25

1
Ifx*- 3x+1=0, find the value of x+;?

(a) 0 (b) 3 ()2 @)1

The perimeter of two squares is 12 cm and 24 cm. The area of the bigger square is how
many times that of the smaller ?
(2)2 (b)3 (c)4 (d)5
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BMUO) MV}AOIONGHUD B0) Ba0ISENT3 BROMOPo &*FlB)IM). BRAIGIV3 8 Gal@ BOGOOOYOM 00
BoxHemOMIMOW] 120 0)al arflmo alleianss]. 8MBal®monmd, eemMAIMOW] @RAIG Ba3al®)
Gal)OsWlo BHMEM ailelniloag woowdleeuwd 160 d)al ®»)S)O@ allelanos]. GREBEOM
HVHIG ERAUAG HRAOMHOMIT 2lLIQADORIW @B af)l® ?

(2) 1120 (b) 1240 (c) 1260 (d) 1100

@3 1DBl6 N MR IOBIOG @)Ll @y aIten]S)maN BTG G216 lamomlnad
MLNOMOD) af)ANVEM QUGOENRO) ?

32 % of 750 =7

(a) 23 % of 600 (b) 46 % of 207 (c) 98 % of 250 (d) 75 % of 320

1o GREY 3 AUGHEOMES (aldlaldato 6% af)am Mlossieno, GRS 5 AUBHCOMEE (Al
aldatto 9% ag)am mlosslelo, 8 AUGaHOMIM) GrHMBS $0e1sailad 13% agom mlosslelo
®)02] aléMo &»Sens)OM). 11-00 AIBamdQINOMo aleilow] @re®: 8160 0)al GRSW N AM).
A @iy mmm) adausBsleeal alellvo 1440 o)atwosns.

B. @pairvom myan) aidaussssleel aleilwo 3120 ojaiosm.

(2) A @) B w)o voclwosns (b) A ©p B w0 emgosnd
(©) A 2o@o wool (d) B oo wool

a:b=>b:c amesmslad, at: b* agan @eowenITWEDIT MEILROVT B0 ?

(a) ac : b? (b)a’: ¢c? (c) ¢*:a? (d)b?: ac

830} cRoellwes GYe: migo 1280 0)a1oem. @Ra)) QUGS 3 GlalTvo H®06MB)0, 6NIdENI)
83QUss 12 dlairve a:oeme)o ¢Roell 02100 ®1d69). @rald aaisally dlairvesglelnem

¢20eil §21Q)MMEOOHIG3 GRaallea wnIso ag)l® ?
(2) 800 @)al (b) 1000 @)al (c) 1200 @)a (d) 700 oyl

830} EVl@ aeesmnivlcd mlanye 3.45 pm @ 6VOAWIGEISS aj0aa]S)aN). SESVImIed
calo® 50 &l.al/aemleed @rem. 26Q00) HSVIM ¢»oaIViad @mlanie ajeeemnIvleelss 2.35
pm a3 60 &3l.a1/26emle6)3 ANV 0 1)00a|SIAN). MoRENIVI0 GNIAIWI GAAILNBS GRG:Elo
510 &1.27 ereMm®I0d, 3)0066MWIT3 WMo af) (@ B)00 ERGEL! D) HSTIMIG:Blo G6NE)Y

mS0 ¢
(a) 200 &2 (b) 250 &.2" (c) 245 .o (d) 300 &.2"

(BHROMN®ROW] BAUND H)S)AM S0} QD4a], FMIWOIFal E0Qlleel 7 M6rmles &dyyTaWOmIC3
mlanyo 5 AlMIG GAUNG )00 GRSITIM EHIVWOIP2] HOAUDYIEMOo 7 aemlos, 5 allajilg
48 &IVBHag GAUN® ?*)SIOENA0EM. af)BIG3 oGO FlaITva0W0)aN) GZHOHs WAIWOW VAW
B06Ma]o) ?

(a) piss] (b) voml (c) ®at0qy (d) snnywad

2005 2082jlad vomlWoPal aBo®oeds ®1VMBEI03 Grloyam) ?
(a)4,5,9,12 (b)3,10,17,25 (c)5, 12,19, 26 (d)4, 11, 18,25
1
x?- 3x+1=0 @rwods, x+; o0 allelpwas ?
()0 (b)3 (c)2 (d)1
06MB) VA AIM)OEBS)OS 2)Qsal IO (Hao 12 cm, 24 cm ereem &G alelo

M2 IOONING al0a|80l 621010 TVAIGOCINQ al0a Sl of)(@ BSEBBO6N?

(a) 2 (b) 3 (c) 4 (d)3
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Ravi is the son of Aman’s father’s sister. Sahil is son of Divya who is mother of Gaurav and
grandmother of Aman. Ashok is father of Tanya and grandfather of Ravi. Divya is wife of
Ashok.

1. Ravi is Divya’s grandson

2. Gaurav’s wife is Tanya’s sister.

(a) only 1 is true (b) only 2 is true (c) Both 1 & 2 are true (d) Both 1 & 2 are false

If BOMBAY is written as MYMYMY, how will TAMILNADU be written in that code ?
(a) TIATIATIA (b) MNUMNUMNU (c) ALDALDALD  (d) None of these

If P is 300 km eastward of O and Q is 400 km north of O. R is exactly in the middle of Q and
P. The distance between Q and R is
(a) 250 km (b) 300 km  (c¢) 350 km (d) 25042 km

Pick out the odd one
(a) Radio : Speaker (b) Phone : Sim card (c) CPU : Processor (d) Plant : Pot

Nivin buys a watch for Rs. 500 and sells it to Shinoy at 10% profit, Shinoy then sells it to
Jenu at 20% loss and Jenu sells it to Jeevan at 10% loss. How much did Jeevan pay for the
watch ?

(a) Rs. 484 (b) Rs. 396 (c)Rs. 384 (d) Rs. 480

In an Arithmetic Progression, 3™ term is 120 and 7* term is 144. Then find the 5* term ?
(a) 130 (b) 132 (c) 134 (d) 124

Some international organizations and their motto are given. Find out the wrong pair.
(a) FAO - Let there be bread

(b) ASEAN - With humanity towards peace

(c) Interpol - Connecting Police for a safer world

(d) ILO - If you desire peace, cultivate justice

Choose the correct statements.

1. The first aerial battle in history took place in the First World War.

2. Germany was the first country to use chemical weapons.

3. Phosgene and Chlorine were the chemical weapons used in the First World War.
()1 &2 b)2&3 (©)1&3 @1,2&3

Find out the wrong statement

(a) The first census in Travancore was conducted in 1836 during the reign of Swathi
Thirunal.

(b) The first systematic census in Travancore took place during the reign of Ayilyam Thirunal.

(¢) Murajapam was first celebrated in 1750 during the reign of Marthanda Varma.

(d) Slavery was banned in Travancore during the reign of Rani Sethu Lakshmi Bayi.
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oall, @PAENG @RAIHIG TVEA0IBEIWHS ABHMIEM. TVICIT, WDOAIH E@LEAWIe EPANMY
@) @)20® GlAly NS AHMOEM. @REUWIG, GMONIW®OS @oalMio 0alW)eS
@Paa|M)@0em . Glaly @PGUOHING BO0IWIEM.

1. eail, Glaiyw)es ald@mosm.

2. w»oailaag 80y, MOMIVAS TVEA0IBAIWOEM).

(a) 1 @o@o 0@l (b) 2 moimo wal (¢) 1 9o 2 9o woal (d) 1 20 2 90 og

BOMBAYo®@ MYMYMY ogeoaneioosasslcd, TAMILNADU ogym@ @re® 6o @oaH
ONBB af)sBBOM af) $}®00 ?
(a) TIATIATIA (b) MNUMNUMNU  (c) ALDALDALD  (d) None of these

P, O 01@d mlamyo 300 &2 ssleesyo, Q , O ©lad mlanye 400 km aiseejo @myem. R, Q ailmyo
P deey emd acvyomlenmoesmeslod , Q allad mlanye R selenss 800 agio?

(a) 250 @2 (b) 300 &.2" (c) 350 @2 (d) 25042 L2l
®08)¢ al0WINAIWIGE BQWOVG) GOOEINSIHO) .
(a) coauflewo : aalleed (b) anoend : alo @030l

(c) Mlailw) : Galoruarud (d) 82191 : 219

mlailad 500 0)al 050500 B0} QPa] 6Bl waro 10% ePEOMIG oHlemowlses ailg).
alemo] @ed 20% mayomlad exmyailmye, ormM) 10% meyomilcd Rlaime aclap oflg).
af)Io3 21umd ajla) @050 ailel ag)(®?

(a) 484 o)al (b) 396 @)a1 (c) 384 o)a (d) 480 o)1
80) Mo GWeMII®3 3-00 aldo 120, 7-00 alBo 144. ag)@sl@3 5-00 alBo ag)l®?
(a) 130 (b) 132 (c) 134 (d) 124

aflel GRATIE0HS MVoPLISMB:B)o GRAKDNS GRYAICLG:EEBBI MATICIEHAN). HEMQYOIW GEROWS]
BOENROI) B>

(@) FAO - ee1§ 9303 il eeniad

(b) @rmilwom - allow aoyeomigl syandalmS aflad

(€) MBBEaIOWB - B3NSl GaloallaS andd af) GIVanAGGAIKBAD

(d) ILO - wad @) ablvwd alad, eudgleald :qyles

0OIVWOW (aITV@OAUMBU OO VEIINS)EN) B,

1. 2101@O®1e10320W] @RYE0®IRLo MSINMD BANO0 GEIOG: BaOIWIELOMILIOEM).

2. @0 E0ILOWIWo (IBWOWla)) RACAMIOEIT.

3. 8aNoo GRIDGAA00WRLOTIGE DalEWIWla] COTVOWIWEBBBIEM GaNITVERIMo EHIOIM)o.
(a)1902@o (b)2@o3@o (C)l@o3@o (d)l@02@03@o

ORIV (aITV@OAUM AR ).

(a) 1836-@3 auom] @loymoslend @oeiomoem @lo)all;mood)0lad @Ry HILMTVMS MSMNO).
(b) Tloyilmoosdiad @BEY @k eruadmuas Mmsmmo) Gr©lalio GIMOSING GILKTHSTT,

(c) mo0malo @GREIROV] GRGLaHla® 1750-03 203EMOMWAIGEAWOS GHOLIOMIET.
(d)ooeml ervm)eletialeow] ®MN0SIWHS ROMGIRIOD ®0}AlMI0d)0IT3 ®@RSIaCmo

M3 e10oes.
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Books/ Films related to Kayyur revolt are given. Match them correctly with associated person

A. Chirasmarana 1. Lenin Rajendran
B. Kayyur Samara Charithram 2. Niranjana

C. Kayyurum Karivellurum 3. AV Kunjambu
D. Meena Masathile Suryan 4. V.V. Kunjambu
(a) A-2,B-3, C-4, D-1 (b) A-3,B-4, C-1, D-2
(c)A-2,B-4, C-3,D-1 (d) A-1,B-3, C-4, D-2

The Secretary of the Khilafat Committee formed in Kerala.
(a) Kattilasseri Muhammed Moulavi  (b) Mohammed Abdurahiman Sahib
(c) E. Moidu Moulavi (d) Shoukathali

With reference to the book “Desher Katha” written by Sakharam Ganesh Deuskar during
the freedom struggle,  consider the following statements :

1. It warned against the Colonial State’s hypnotic conquest of the mind.

2. It inspired the performance of swadeshi street plays and folk songs.

3. The use of ‘desh’ by Deuskar was in the specific context of the region of Bengal.
Which of the statements given above are correct?

(a) 1 and 2 only (b) 2 and 3 only (c) 1 and 3 only (d)1,2and3

The native state of Tripura involved in the freedom movement early in the 20th century
because:

(a) the kings of Tripura were always anti-British

(b) the Bengal revolutionaries took shelter in Tripura

(c) the tribes of the state were fiercely freedom loving

(d) there were already some groups fighting against the kingship and its protector, the British

The Mughal school of painting formed the spinal column of different schools of Indian
miniature art. Which one of'the following painting styles was not affected by Mughal painting?

(a) Pahari (b) Rajasthani  (c) Kangra (d) Kalighat
Match the following:

A. Landholders’ Society 1. H.N. Kunzru

B. Pune Sarvajanik Sabha 2. Sisir Kumar Ghosh

C. Seva Samithi 3. Dwarakanath Tagore

D. Indian League 4. M. G Ranade

(a) A-3, B-4, C-1, D-2 (b) A-4, B-3, C-1, D-2

(c) A-3, B-4, C-2, D-1 (d) A-4, B-3, C-2, D-1

The Lok Jumbish project implemented in Rajasthan with the help of Swedish International
Development Agency is related to

(a) Health (b) Education (c) Environment (d) E-governance
Who has been appointed as the Attorney General of India in October 2022

(a) KK. Venugopal (b) Mukul Rohatgi

(c) R. Venkataramani (d) None of these
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S WaoaRad@] MINWea]s SHIO1&HUW/ WInlacud ®aMloles)a). nNITWeaqls
QA E®18)200] E1WOW] ¢WoHla loe)d:.

A aflorSmosm 1. 9eImnlad vosRO3M

B. &3 cvaoa1climo 2. mlosm®m

C. #Q)0)0 &0loass)0)0 3. ag).ail.e)eoman

D. aYmmomvamleeal avyoyad 4. ail.ail.es)soman

(a) A-2,B-3, C-4, D-1 (b) A-3,B-4, C-1, D-2

(c)A-2,B-4, C-3,D-1 (d) A-1,B-3, C-4, D-2

CHOBOMIT3 0)alld0la ailelano® GilGlwIes HIVHSO

(2) &gleicgol maeomd amelall (b) ma0023 @RENIBI0ACI2003 aVOaslen]
(¢) . p2oT®) avelail (d) aumooomei

aqUeLIDN00 NEEMUS BlEOMVEA 0aila] ‘GRGUIA IO’ af)IM aRITDGHOAD GRSITVOAOMAOSE]

@02 |0WIAN (2 ITTGOAUDRHUB alBINETIB) .

1. 930ez0eml@@ Qg aolaiemoglsaload®@ amqy &lessselomdiloo a)anoldla]
plarN

2. qneswl e®O)Ql MISH (ald:SMEEBUEGH0 MISM aldS)EUBE)0 DM (alGaldBMmROW.

3. dleomM»0leoad  ‘63U0°  (alG®OWo  qilewwoHlajlo  EMI0WIW  (alGBWOM]O]
Al OMEKT R0 lo)m).

MS103 MBS 1VNB1B9)IM (A INIDOUMBSIOF WOIWOWAI H6)6NBOTD ).

(@) 1 20 2 9o 20io0 (b)2 20 3 20 2000 (©) 1 20 3 90 20w (12022039

0)al®O0 MQIENEINMY @YOoROMIGE (@lal)0 MVoAVLNIMo MVIDM(IMY (alTVLNIMOM ]G3

algr08le800. ©:006Mo :

() Wlaovlee! C0BOGH®OAB af)aMlo BRISlaH allo)eL AEMOROAMBBAIEOV)IM).

(b) enIonoud ailglaieodle:ud (a0l @REWS (aldailal).

(C)  MOMLNOMOT BNIUGAUBRO GHSITB TV TEEMaSlG3OVIIM).

(d) ocommICIMI0 @GOG MoOBHBH00W (6Nil5laH)E0B60)PAMO0 Galdoos)aN allal

Moa16BBU3 OMIM:0 MHAN DNEOW10)MM).

Day@ dlnlewad seies allalld wInI;8)es Megel 0)alea]SloleryM® M3V Ud
2fl@&e1led mlanyaoem. 089 ®aNIGlenmM AT aB®oem MWW alll@eel auowlmo
62 1ENOMOO 2l @02INOVTG ?

(a) ala00@l (b) eomavnoml (¢) ®om» (d) ®ogleels

00olWOXT GO {los)d.
A. enamdad Gaooudewdas eamvossaugl 1. H.IN  eyadirv

B. anem avodqjzmmles ave 2. ®wlwlde)m08 GeLIDaH
C. savan avalo) 3. BI0OBOMOLS SOBWOR

D. wamyad erlss 4. afo.2). oomew

(a) A-3,B-4, C-1,D-2 (b) A-4, B-3, C-1,D-2
(c)A-3,B-4, C-2,D-1 (d) A-4, B-3, C-2, D-1

aorlaslati OAFAMOaHEM@ HWwalela]oa] oBFRBIVIWHS TVa0IWEOMINS OORAVNOMIG3
Mmsaflensslo celnd Roeilodi aleb@] MITWeNSIGlENMO.
(a) erpEoOno (b) ailayorsyomvo (¢) a1@laudlo (d) v-wealemadad

2022 s36906n10103 A Wes @eeEgodesl 2moend] mlalemI©)

(2) 8.0, BAIM)ENIIOCI (b) 203 cooOmUK)
(c) @mad. easlgomeml (d) aw@ommyzel
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Which of the following is not the function of the National Human Rights Commission?

(a) To interfere in the proceedings related to any human rights violation case pending in
the court

(b) Protecting the human rights of prisoners

(¢) To provide economic compensation to any human rights violation victim

(d) Promoting research in the field of human rights

Consider the following statements:

1. The Administrative Reforms Commission (ARC) set up in 1966 recommended the con-
stitution of a two-tier machinery of a Lokpal at the Centre and Lokayuktas in the states.

2. PD. Deshmukh was the chairman of the Administrative Reforms Commission (ARC)
set up in 1966.

Which of the above statements is/are correct?

(a) 1 only (b) 2 only (c)Both1 &2 (d) Neither 1 nor 2

Who/Which of the following is the custodian of the Constitution of India?
(a) The President of India (b) The Prime Minister of India
(c) The Lok Sabha Secretariat  (d) The Supreme Court of India

The impeachment of the President is carried by which one of the following?
(a) Attorney general (b) Members of the legislative assemblies
(c) Parliament (d) Prime minister

Which of the following is/are covered under Non-Plan Expenditure?

1. Defence expenditure

2. Interest payments

3. Salaries and pensions

4. Subsidies

Select the correct answer using the code given below.

(a) 1 only (b) 2 and 3 only (c) All of these (d) None of these

Consider the following statements regarding Indian Planning:

1. The Second Five-Year Plan emphasized on the establishment of heavy industries.

2. The Third Five-Year Plan introduced the concept of import substitution as a strategy for
industrialization.

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only (c)Both 1 and 2 (d) Neither 1 nor 2

What is/are the most likely advantages of implementing‘Goods and Services Tax (GST)’?

1. It will replace multiple taxes collected by multiple authorities and will thus create a
single market in India.

2. It will drastically reduce the ‘Current Account deficit’of India and will enable it to increase
its foreign exchange reserves.

3. It will enormously increase the growth and size of economy of India and will enable it to
overtake China in the near future.

Select the correct answer using the code given below:

(a) 1 only (b) 2 and 3 only (c) 1 and 3 only (d) All of these
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@069 |0 AITIGE G3IR AMYHLOAUHOM0 GHATaHE (2 IQIGCINMALIOCDEEI)?

(a) 6205003 MRINKBENIM aGoMEIEN0 AMPHLOAUBM  EIoCLIM  BHTVIAOWT NITWe|S
MSalSl®HSIT3 DSealIST3.

(b) ®sa®»00}OS BM)aHLOAUBIWVEEBUB MVOOSH]H) B>

(C) agom®Ilane AMIHULONIG0UW LloCLINAMIN DOWOWAIBHS TVOMICHIE: MatfalBlan00o
M @3O3

(d) amya300IB000 CREILINIBE VEAIKHMO GaIOTNVOa0l lee)d:

DM 0N (aIT@OAUMHUD alBlNEloe)d:

1. 1966 @3 0)al1@la) BGOMaldlid:00 @enleumd (ARC) soBowmlad ¢ensaloeloaw)o avo
MILNOMEBBSITY GEING0WEMWOSW)o Bilmel HaaHlmAl 0)al1e:0l60008 W6lalodwo § 21D,

2. 1966 @@ aSn0all®20® BOMaldlati®00 &amlaed (ARC) esi@dmomowvloyam)
ail.awl. eeuome].

MBHGITF Al (AN ®OAUNBSIT aB@®o6m w0adl ?

(a) 1 moo (b) 2 @00 (¢) 1 202 90 ®al  (d) 1 90 2 9o amqQosm

M0 AIVIG3 @RYOIEM /aB@IEM AN BOEMALISHWINS TVOOGHDI?
(2) DIMIWOS ©OLYal@)] (b) mamy@ (e twomaao
(c) censavueo emuwegdleg  (d) oamywes myailo 80sO)

00(eYal®IWOS oalla]onagd  ®Paj0WIANAVITE @RS  MSa{leean©)?
(a) @regodem] mmomd  (b) mMloacveionssud () andeipand  (d) (alwomals

©06$2 |0 AUT]GE oBODINGHWOET alELGIVIMO B 21elaN®» 8o H1FG8 AUOYMG)?

1. (1060w ©alelnl 2. aleiltd GalPenad)dud

3. vougano eal@anmyo 4. queniaslanle»ud

2SS M@3HIVIGlen MG Wlan)o VEIVWOIW DOMOo TIOCEITNS)H) >

(a) 1 moo (b) 2 90 3 90 @m0 (c) mawwelo (d) paw@ommyzel

EDATIM BRYAVY@EMHOD TVoeNITW]a] DMa0WIAN (AITTGIAUNHUB alBINETIBe)d:

l. aidesls QIyQIrLOWEBBE)HS TLNdAIMOMIMOEM ©6MNBJ0  alRAIGIVO AlRL@] ODANGI
MOV O).

2. QIO AIOG6MATIMBS B0) MLANAOW] DOSNAG] NIBTE af)dMN ERYU®O MANIO
aleRIAUONO alBLGIVIG3 @PAIMG]afla)).

M08 NABHIVNGIE9)IN (aIT@OQAUMBSI03 a@@moem woadl ?

(a) 1 moo (b) 2 @00 ()1 ® 2 90 (d) oeneyo ooloel

‘21006 GrVAIMm Mol (2lag)ais]) MmSa{lensemM@ING afQalo TLOWIMWBS GMFEBBUY

a)OANIBHWOE) ?

1. sanlaidlso @rwleodledd ¢waldlenam amlelWld;o Mlo)@dud BSlaeDq|S)dh®)o
@REBOM WMV 3600Q allalerm] qVyaHSIeNHW)o Oalo.

2. DO ‘®0ag GREHDNE HWanlUly” wemimo@] $)0a] DAMIWES AllGBU MMy &)
@3 6uoaloo AIdRLla{lendm (aldal®maos)o.

3. O HANIM TLMIGQLAUTLOWOS AIBdaj@io alellajane 8O0V WMo aldablajla) qual
a120QIlImd MAMIWIOS TLMUBAAUIVID ©H2IMHW AOlGHSHNOM (aldal®BOB)0.

21)QIes M@K VIGlenmMAUV]G Wlan)o EIVOIW DTNV TIVEEIINSIBN)b:.

(a) 1 @o@o (b) 2 90 3 90 @m0 (c) 1 90 3 9o mo@o (d) mawwero
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Consider the following financial institutions of India:

1. Industrial Finance Corporation of India (IFCI)

2. Industrial Credit and Investment Corporation of India(ICICI)

3. Industrial Development Bank of India (IDBI)

4. National Bank for Agriculture and Rural Development (NABARD)

The correct chronological sequence of the establishment of these institution is :
() 1,2,3,4 (6)2,3,4,1 (€)3,4,1,2 @) 4,1,2,3

Find out right statements

1. Personal Disposable Income is obtained after deducting personal taxes and non-tax
payments from Personal Income

2. In economics, investment is considered as expenditure along with the cost of buying
goods and services

3. Personal Income is the share of households obtained by dividing national income by
smaller components

(a)1,2and 3 (b) 1 and 2 (c) 2and 3 (d) 1and 3

Which of the lists are there in the “Red Data Books” published by the International Union
for Conservation of Nature and Natural resources (IUCN) ?

1. Endemic plant and animal species present in the biodiversity hotspots.

2. Threatened plant and animal species.

3. Protected sites for the conservation of nature and natural resources in various countries.
Select the correct answer using the codes given below:

(a) 1 and 3 only (b) 2 only (c) 2 and 3 only (d) 3 only

Which of the following statement/s is/are correct regarding Astra missile?

1. It is an air-to-air missile indigenously built by DRDO.

2. It can intercept target aircraft at supersonic speed.

3. It uses an indigenous liquid fuel propellant.

(a) 2 only (b) 1 and 2 only (c) 1 only (d) 1 and 3 only

The first nuclear reactor in India is
(a) Dhruva (b) Apsara (c) Harsha (d) Vipula

Which of the following Committees have been set-up to study issues related with Western
Ghats?

1. Madhav Nair Committee

2. Ullas Karanth Committee

3. Madhav Gadgil Committee

4. Kasturi Rangan Committee

(a) 1 & 2 only (b) 3 & 4 only (c) 1 & 4 only (d) All of the above
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A leel e ]oWan WM TVLNaIMEEBU3 alGlNElee)d:

1. spnBanmiiskomd aclmoadmd @080 |e0aum 60ad samy (IFCT)

2. BwaSSlocd ol eramdal mmdeamigean” 66:08q|60aum aoad amy (ICICI)
3. paBawaisload eawalelainand’ enog; soed mamny (IDBI)

4. moauem@3 enIoE; Ganod @R(UIle:uda)d @R 0003 eaaleliendd (NABARD)

DD AULN0aIMEBBRNS NOIVOIW &HOLIB:R0 IOREIINSIHNE:

()1,2,3,4 (b)2,3,4,1 (c)3,4,1,2 (d)4,1,2,3

0OIVIW (aITV@OQAUMBU S6ENBOI B>

. anedlom aweonamlcd wlm ae@lo® Mle)Mlegle Mle)MQI®Mo @RSA&:S)o &)0a]
@M GWato AYE®IO® AllmleWow AIE)ROMo LIElee)o

2. qomIODilé OISO, 210H69)HB)o GILAIMEBSI0 AOEBIANTIMBS Halelallomoajo
WIEHHAIOO &2IBIQUOW] BHEMEHOHHN)AN)

3. 63wl AI)ROMET® §210l0 2LISGEEB8OV] a00l2 003 eIElENaN &)S1o6nIEBR8)eS Qil
a0l®@06M QAUYEDIN® QIGYROMO.

(a)1202@o3@o (b)l@oZ@o (C)Z@o3@o (d)l@o3@o

S003AMOaHENE3 T GaNI@ HBMAVAEUHNE B30al GMa)d @RIBW Mo Podd Aleavo$ay

(IUCN) (aindlenlendlay ‘@0l anogo eni@sled’ @l al0@ymall@d ogomoass elmig

anseaBlwloleman) ?

1. eamaeeaaildy 6Ga005I0EaI5)HSI08 G06Mea|S)aN (aldGBUBld: TVIVLEEBRSlo RAM)R0E
68BB)0.

2. @lateml ¢mMEISIaM VAV RAD)LROLIEBBUB.
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Which aerospace company launched India’s first privately developed rocket?
(a) Skylabs Aerospace (b) Collins Aerospace
(c) Stardour Aerospace (d) Skyroot Aerospace

Assertion (A): Unlike temperate forests, the tropical rainforests, if cleared, can yield
productive farmland that can support intensive agriculture for several years even without
chemical fertilizers.

Reason(R): The primary productivity of the tropical rainforest is very high when compared
to that of temperate forests.

(a)Both A and R are individually true and R is the correct explanation of A.

(b)Both A and R are individually true but R is not the correct explanation of A.

(c)A is true but R is false

(d) Ais false but R is true

The Brahmaputra, Irrawady and Mekong rivers originate in Tibet and flow through narrow
and parallel mountain ranges in their upper course. Of these rivers, Brahmaputra makes a
‘U’ turn in its course to flow into India. This ‘U’ turn is due to

(a) Uplift of folded Himalayan series

(b) Syntaxial bending of geologically young Himalayas

(c) Geo-tectonic disturbance in the tertiary folded mountain chains

(d) Both (a) and (b) above are right

Gandikota canyon of South India was created by which one of the following rivers ?

(a) Cauvery (b) Manjira (c) Pennar (d) Tungabhadra

Quartzite is metamorphosed from :

(a) Limestone (b) Obsidian (c) Sandstone (d) Shale

With reference to Idukki district, find out the wrong statement(s)

1) The largest pineapple producing district in Kerala

2) The first hallmarked district in Kerala

3) Kattappana in Idukki is the first widow-friendly panchayat in Kerala
4) The district which is known as the “power house of Kerala”

(2)2 & 4 (b)1&3 (©)1,2&3 (d) 3 only
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Select the word with the correct spelling.

(a) Imparialism (b) Optemism  (¢) Consumerism (d) Communlism

In the following question, the sentence given with blank to be filled with an appropriate
word. Select the alternative out of the four and indicate it by selecting the appropriate option.
His directions to the driver were ----- and helped him to reach on time.

(a) Explicit (b) Implicit (c) Expletive (d) Implicate

In the given question, some part of the sentence may have errors. Find out which part of the
sentence has an error and select the suitable option. If there is no error select ‘No error’.
No other poet in (1)/ the world is as renowned (2)/ than William Wordsworth. (3)/ No error (4)

() 1 (b)2 (c)3 (d)4

Select the Synonym of : EMBROIL

(a) Misappropriate  (b) Irritate (c) Embarrass (d) Involve
Select the antonym of : ATTENUATE

(a) sink (b) elongate (c) brood (d) enhance

Select the alternative which best expresses the meaning of the idiom/ phrase.
Turn a blind eye

(a) Not able to see the obvious truth  (b) Hide the ugly truth from someone
(c) Pretend not to notice (d) Stay away from bad habits

The following sentence is a ————— sentence.

Owing to laziness, he couldn’t accomplish his dreams.

(a) Simple (b) Complex (c) Compound (d) Compound-Complex
Pay attention to the usage of the word fast in the sentences given below and decide what
parts of speech they function in the given order of the respective sentences.

1. That is a fast train.

2. She walks fast.
(a) Adjective, adverb  (b) Adverb, adjective (c) Adjective, noun (d) None of the above

She is clever, ?

(a) s she (b) isn’t she (c)isn’tit (d)isit

Fill in the blank with suitable article, if required. Choose from the alternatives given:
I hope to reach home in —— hour.

(a)a (b) an (c) the (d) none required

Select the most appropriate option to substitute the segment in italicized in the given sentence.
If no substitution is required, select “no improvement”.

Hardly he had eaten his food and he got a call from his boss.

(a) Hardly had he eaten his food then (b) Hardly he had eaten his food when

(c) Hardly had he eaten his food when (d) No improvement
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In the following question, a sentence has been given in Direct speech. Out of the four
alternatives suggested, select the one, which best expresses the same sentence in Indirect
speech.

He said, “Ravi, why are you sounding so depressed today?”

(a) He asked Ravi why did he sound so depressed that day.

(b) He asked Ravi why he was sounding so depressed that day.

(c) He told Ravi why he sounded so depressed today.

(d) He asked Ravi that why was he sounding so depressed that day.

In the given question, some part of the sentence may have errors. Find out which part of the
sentence has an error and select the suitable option. If there is no error select ‘No error’.
With a view to help the Third World Countries, (1)/ the IMF and the World Bank keep
sending (2)/ their experts to different regions of the world (3)/ No error (4)

(a) 1 (b)2 (©)3 (d) 4

Select the one which best expresses the given sentence in Passive voice.

The company gave him a small compensation.

(a) A compensation was to be given to him by the company.

(b)He was being given a small compensation by the company.

(c) He had been given a small compensation by the company.

(d) He was given a small compensation by the company.

Choose the correct sentence/sentences from the following :

1. The girls as well as the teacher have visited the orphanage.
2. A good deal of information has been collected

3. The principal and manager are absent today

4. Neither my brother nor my parents have come to the party.

(a)l,2& 3 only (b) 1,2 & 4 only (c) All are right (d) All are wrong
Find out the plural/plurals of ‘Index’.

1.Indice 2. Indices

3. Indexs 4. Indexes

(a) 2 only (b) 2 and 4 only (c) 1 and 2 only (d) 3 only
Choose the feminine form of Horse from the following options.

(a) Colt (b) Stallion (c) Mare (d) None of these
Meaning of the Phrase ‘sine die’ is

(a) of its own kind (b) done in secret (c) die suddenly (d) indefinitely

Replace the underlined words with the suitable phrasal verb given.
Due to heavy snow fall we were forced to postpone our journey
(a) put up (b) put up with (c) put off (d) put down

Which of the following is wrongly matched?
(a) Hangar - A place for housing aircrafts (b) Mint - A place where coins are made
(c) Stable - A place where horses are kept (d) Apiary - A place where monkeys are kept
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